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Question Number : 1 Question Id : 6981772143 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The principle of development that explains ‘development goes from womb to

tomb and never ceazes’
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Development follows uniform pattern
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Question Number : 2 Question Id : 6981772144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Chetan. a boy. 1s 1n Piaget’s Concrete Operational stage of development. Which
of the following is a characteristic of him?
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thinks that all men are his daddy
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prefers taller glass of milk over broader glass even though both have
same quantity milk
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not egocentric and thinking 1s reversible
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Question Number : 3 Question Id : 6981772145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following 13 NOT correct on the part of the interviewer during an
Interview
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asking for elaboration of response
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seeking clarification by repeating the question
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be a patient listener even if the interviewee 1s taking long time to

respond
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Question Number : 4 Question Id : 6981772146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two brothers are fichting to watch two different programmes on television,

one for 5p01't5 and other for music at the same time. This indicates their
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Options :

Interests
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Question Number : 5 Question Id : 6981772147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to ‘Learning’
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Learning 1s relatively a permanent change i behaviour occurring due

to experience
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Le:u‘ning 15 always permanent

o A
TRR0 alea i TREENG

Learning implies development in right direction
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Learning is not transferable
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Question Number : 6 Question Id : 6981772148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Bruner says that teacher should provide problem situations that stimulate

students to
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Memorize
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Ignore
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Question Number : 7 Question Id : 6981772149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

According to this psychologist. ‘understanding the rules of one’s own language

1s an unconsclous, innate and neurological process
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Question Number : 8 Question Id : 6981772150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Skinner. one of the following does NOT help learning to proceed
effectively
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2000 5o wdsrareid Edyodto

k)
05

1. %

Giring rapid feedback
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Learning at own pace
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Use of punishment regularly

5500 8% 350 edirfotito
4.

Question Number : 9 Question Id : 6981772151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A teacher, asking simple questions to get the information learned by students

1s using the method of
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Question Number : 10 Question Id : 6981772152 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1z NOT a behavioural characteristic of a creative
individual
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Flexible in thought
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Curious
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Disinterested in new ideas
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Rich imagination
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Question Number : 11 Question Id : 6981772153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When something learnt previously hinders learning the new concept. 1t 1s

known as
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Bilateral transfer
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Zero transfer
Bo=R; Bt oo
4 %

Question Number : 12 Question Id : 6981772154 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This assessment 1s used to certify performance of students at the end of the

academic vear
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Question Number : 13 Question Id : 6981772155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Using flash cards with pictures to teach objects in pre-school 1s based on this

theory of learning
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Question Number : 14 Question Id : 6981772156 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the third from bottom in the Maslow’s
hierarchical structure of needs
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safety
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belongingness and love
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Question Number : 15 Question Id : 6981772157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
From the following, identify the person who can be considered as Border line

intelligent based on IQ

gO{_‘ £ _-'[Q.w IQ c—?ﬁoGOT & ;}



Options :
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Question Number : 16 Question Id : 6981772158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher 1s Introspecting her teaching as the achievement of the students was

low. The activity of the teacher is related to this phase of teaching
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Pre-active phase
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Question Number : 17 Question Id : 6981772159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Collaborative learning is rooted in this Psychologist's concept of learning
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Question Number : 18 Question Id : 6981772160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT within the perspective of NCF 2005
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Rigid system of examination at all levels
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Question Number : 19 Question Id : 6981772161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



According to RTE Act, 2009, a child who 1s admitted to elementary education
shall be entitled to free education till
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attainment of Fourteen vears
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Question Number : 20 Question Id : 6981772162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This type of leadership of the teacher expects the students to follow the
mstructions without questioning
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Options :

Permissive

Autocratic
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Question Number : 21 Question Id : 6981772163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Directive counseling 1s
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process C entered
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Question Number : 22 Question Id : 6981772164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Play in a primary school 13 NOT expected to have
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Question Number : 23 Question Id : 6981772165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The percentage of disability as certified by the certifying authority for a person
to be considered as a ‘person with benchmark disability’ as per RPWD Act.
2016
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4 % 10%

Question Number : 24 Question Id : 6981772166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following developed ‘Gestalt Psychology’ along with Kohler and

Werthiemer
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Question Number : 25 Question Id : 6981772167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A student appearing for online exam could not complete the entire paper as he
couldn’t remember the answers. But. after completion of the exam, he told his
friends that he could not answer all questions as mouse has not worked
properly. The defense mechanism employed by the student is
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Question Number : 26 Question Id : 6981772168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The age associated with the period of industry Vs inferiority in Erickson's

theory of psycho-social development 1s
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Question Number : 27 Question Id : 6981772169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Kohlberg, during this stage one's conscience guide’s one's

behavior
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Stnge I of pre conventional level
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Stage IV of conventional level
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Stage VI of post — conventional level
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Stage III of conventional level
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Question Number : 28 Question Id : 6981772170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Project based learning 1s
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school centered approach
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environment centered approach
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Question Number : 29 Question Id : 6981772171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The domain of learning involved in a student :Lcljursting to the new school
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Question Number : 30 Question Id : 6981772172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Effective planning of teaching activity is necessary because
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It 1s mandamry activity to be performed by a teacher.
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It reflects teacher’s commitment to maintenance of records.
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Language I Telugu

Section Id : 69817766



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 6981772173 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6981772174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number

: 32 Question Id : 6981772175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 6981772176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981772177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 6981772178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 698177109
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 6981772179 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)
Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6981772180 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

P = N i e Y
ERVILEV I T o) ooy SO®EneD ﬁ-:\,"c O3
— =

Options :

Ll

4. ®

Question Number : 37 Question Id : 6981772181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981772182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981772183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id

: 6981772184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

Question Number : 41 Question Id

3
698177110
Yes

null

: 6981772185 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 6981772186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 6981772187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id

o
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: 6981772188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks :
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Question Number : 45 Question Id : 6981772189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 6981772190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 6981772191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 48 Question Id : 6981772192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 6981772193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981772194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981772195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981772196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 6981772197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981772198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981772199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981772200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981772201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981772202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981772203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 6981772204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 69817767
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177111
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981772205 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the correct

option for each question.

The world 1s bound to call itself “Modern™ and all the credit goes to our advanced
technology and science. Advanced technology basically could be the “Invention of
computer.” Computer 1s a wonderful machine. It 15 also called the artificial “human bran.”
The computer has become an integral part of our lives. It plays a major role in our education,

work and entertamment.

Computers in schools and colleges have made learning more enhanced. School children
are able to access more and more information from the innumerable web-sites. They are
making use of computers and internet for their project work. seminars, and presentations, thus

making their work well-researched.

Computers at work have also made great advancement. At the work place. computers
are more relied upon for their accuracy and speed. Work and time have become flexible. The
computers use wireless technology. So. we can work online and work from home: online
meetings and discussions are held at the international level, thus keeping the office staff in

touch even during their holidays.

Sub questions

Question Number : 61 Question Id : 6981772206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage advanced technology is
Options :

development of science.
1. %

invention of computers.
2. ¢

changes in entertainment.

3. %

invention of machines.



Question Number : 62 Question Id : 6981772207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The word “inmunerable’ means
Options :

calculable

computable

countable

3. %

4. & nuumerous

Question Number : 63 Question Id : 6981772208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Students are making their work wellsesearched because of
Options :
the use of computers and internet.

1.4

> % doing project works.



attending school regularly.

taking research as a course of study.

Question Number : 64 Question Id : 6981772209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per the passage. “Work from home’ is
Options :

making office as home.
1. ®

working on home assignments.

2. %

attending the office work through online from home.
3. %

doing office work during the holidays.

4, %

Question Number : 65 Question Id : 6981772210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is mentioned as artificial human brain?

Options :

1.



Internet

“
> Computer

3 % Mobile phone

4 % Fobot

Sub-Section Number : 2
Sub-Section Id : 698177112
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 6981772211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Everyone understands mother tongue.

Select the sentence in passive voice.

Options :

Mother tongue has been understood by evervone.

Mother tongue had understood by evervone.

Mother tongue was understood by everyone.



Mother tongue is understood by everyone.
v

Question Number : 67 Question Id : 6981772212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part that confains an error in the sentence.
Ramesh was unhappy  that he would no  attend the  birthday party
A B C D

Options :

A

Question Number : 68 Question Id : 6981772213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This 15 not a punctuation mark.
Options :

Full Stop



2. %

Hash tag
3. %
4 % Colon

Question Number : 69 Question Id : 6981772214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An economic crisis may have tremendous consequences for our global security.

Pick the meaning of the word ‘“tremendous’.
Options :
ENOTIONS

1.+

modest

3 % insignificant

slight

Question Number : 70 Question Id : 6981772215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The phone . Can you answer if, please?

Complete the sentence with comect option.
Options :

rang

rings

15 Tinging
3.4 TEE

ring

Question Number : 71 Question Id : 6981772216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Japanese have acted calmly and deliberately.

Choose the opposite meaning of the word “deliberately.”

Options:

purposefully
1. %

consciously

2. %

3 # intentionally

casually
4, &



Question Number : 72 Question Id : 6981772217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt will be easier to read if vou the lights.

Choose the comect option fo complete the sentence.
Options :

switch over

switch on

switch out

3. %

switch off

4, %

Question Number : 73 Question Id : 6981772218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the option that best expresses the meaning of the idiom “Eat like a bird’.
Options :
Eat very liftle

1. %

Eat a lot
®

3 ® Eat fast



Eat slowly

Question Number : 74 Question Id : 6981772219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word

Options :

dialect
1. =

vernacular

tongue

4 o Ueranse

Question Number : 75 Question Id : 6981772220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in order to form a meaningful sentence.
A Swami said that

B) fought with the tiger

C} a very strong and grown-up

Dy person might have

Options :



ABDC

ADCB

ACDB

ABCD

Question Number : 76 Question Id : 6981772221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The wound took time to

Fill in the blank with the appropriate word.
Options :

hail
1. #

heal
heel

3, *®

4. % hael

Question Number : 77 Question Id : 6981772222 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Pick the correct sentence.

Options :

1. % We are for sorry vour loss.

The caterpillar turns itself into a butterfly.

The store 15 open midnight mntil.

We eat in morning the breakdfast.

Question Number : 78 Question Id : 6981772223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I did not go to work today I was not keeping well.

Fill in the blank with the appropriate option.
Options :

because
1.4

2 % until

though



bt

Question Number : 79 Question Id : 6981772224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ravi to work tomorrow.

Fill in the blank with the correct option.

Options :

will be going
1.4

2 ® will going

was going

Question Number : 80 Question Id : 6981772225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The teacher said. “You have to get up early.’

Select the sentence in indirect speech.
Options :

The teacher told me that I had fo got up early.
1. %



The teacher asks me that I have to get ups early.

3 The teacher suggested me to get up early.

The teacher tells me that vou have to get up before.

Question Number : 81 Question Id : 6981772226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

if vou don’t stop that immediatelv im going to complain to the police.

Choose the correctly punctuated sentence.
Options:

If vou don’t stop. that immediately. ['m going to complain to the police.

If vou, don’t stop that. immediately I'm going to complain to the police.

2. %

If vou don’t stop that immediately, I'm going to complain to the police.

If vou don’t, stop that immediately I'm going fo complain, to the police.

Question Number : 82 Question Id : 6981772227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A person who seeks to promote the welfare of others, especially by donating money to

good causes.

Options:
Beneficiary

5 Philanthropist

3. #% buyer

Inheritor

Question Number : 83 Question Id : 6981772228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

He has been reading 3 o’ clock.
Options :

1.« since

for

from

4$33T



Question Number : 84 Question Id : 6981772229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Tdentify the word which is in correct plural form.

Options :

Potatoes
1.4

Photoes

Enifes

Foots

Question Number : 85 Question Id : 6981772230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a salient feature of Commumnicative Language
Teaching?

Options :
Pair work

1. %

> % Group work



Classroom interaction

3. %

Drilling

Question Number : 86 Question Id : 6981772231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Language can be tanght in a better way, if
Options:

1 % Students” talk time is less in the classroom.

Students” talk time is more in the classtoom.
2. %

Teacher’s talk time is more in the classroom.

Teacher’s and students” talk time is limited in the classroom.

Question Number : 87 Question Id : 6981772232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The platform that enables instructors to organize and distribute course materials in a

digital format is called

Options :



Learning Management System

Learning Machine System

Learning Model System

Learning Mechanics System

Question Number : 88 Question Id : 6981772233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Pick the objective of teaching English at Elementary level.
Options :

Make students to follow the instructions given in the target language.

Make the learners to read novels only.

Malkce students fo follow the foreign English literature.

Make the students practice writing reviews and articles.

Question Number : 89 Question Id : 6981772234 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following is NOT a feature of primary level English textbook.

Options :

Ape-appropriate material
1. %

Interesting and attractive content

More text without pictures and images
3.¢

More focus on oral activities

Question Number : 90 Question Id : 6981772235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A student of class 3 says ‘T have some big big chocolates.” This is because of

Options :

mother tongue influence.
1.9

foreign language influence.

2. %

learning disability.



% teacher’s English language influence.

Mathematics
SectionId: 69817768
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177113
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 91 Question Id : 6981772236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following numbers in descending order:

Options :



8.033, 8.025, 8.012, 8.003

[~

i

8.012, 8.025, 8.003, 5.033

Question Number : 92 Question Id : 6981772237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part of 50ml in 1 Litre 1s:

[ag. "5 E"\ = _—l -
&° 50 $h.9. & oo

(1]
A
o

e

1

Options :



Question Number : 93 Question Id : 6981772238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The place value of 0 in 2038 1s:

20388° 0 o Densd:
Options:

1000

100

Question Number : 94 Question Id : 6981772239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If April 1% of a year is Friday. third Monday of that month falls on:

T = e O P - r i R P v -
i [ L e T P P e B e e = e .

e 12 @ f35:r00 Sonad, 8 Jedi” suPES Bsnardo &i R IR
= )

il



19
4. %

Question Number : 95 Question Id : 6981772240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of seconds 11 a half an hour 1s:

o 5 ;o
P 5= D Paslind w7 me
wdfiodE” Bn od Ol

Options :

30

60

900

Question Number : 96 Question Id : 6981772241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

If % g coffee powder cost 80, the cost of Eé kg coffee powder is:

Vicing poo i g ki e g o o
e &65° oo 58 50 T80 wone, EE B ey ooty SPE OO
Options :

%200

AH
| %]
I~
|

Z176

Question Number : 97 Question Id : 6981772242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If the median of m, 2m. 3m 15 12, then the mean of the data 1s:

m, 2m, 3m o 580 12 wond, S&vodo NS, eoBsntishain:

= J

Options :



Question Number : 98 Question Id : 6981772243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following number 1s divisible by 2, but not by 4?

B e Yl )
ed W10l O0 T EF MOTIEICS0AD |
=

&k

o o by T g
Eob r8S° o mogr 23 famore grfodal. 4
: 3
Options:

1808

1. %

9482

Question Number : 99 Question Id : 6981772244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Number of centimetres in 1Kilometer 1s:

-
[

e of ——
D e A - =
1 887 £héxdnBy ooy +

Options :

1 100,000

100

10,000

4 % 1000

Question Number : 100 Question Id : 6981772245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest whole number in the following is:

[ & [
QelPed@)

e

Options :

1.2 1
2.% 1
3. v 0



Question Number : 101 Question Id : 6981772246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The numbers which have exactly two factors 12 called as:

‘ # f i -

. o s oy . R T NTRRRy . By e
E3ed) clIP6D Sl Gy cdOYEell BER e 00
— [ =% S

[=1i=]

Options :

even numbers

iy gt
=B 2o T

1. =
odd numbers
238 2ogen

2. %
composite numbers
Hoding Sogpren

3. w - o
prime numbers
e W oa e
PITPR fogren

4, & h

Question Number : 102 Question Id : 6981772247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The book * The Elements”was written by:

- — L

R R L e e T i
aBaoE Y Ead adied ST e TPrded oo il:

s

Options:
Ariztotle

@l

1. # £}

Pythagoras

DS

Aryabhatta

Question Number : 103 Question Id : 6981772248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. . : 1 .
Area (In sq. m. ) of a square with the side EE m is:

1 f :
YoM o B s e EFYR AL e 3 L TR,
z_zn.J_z. Sl 80230 Selna "l‘:,__‘i-lcl;‘-s-; ol DR EleD |:r'{: ol 2ED :'

Options :

1
6=
1.4 4



1
6_
3. % 2
1
__I__
4. % ¢

Question Number : 104 Question Id : 6981772249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A pomt X on a line segment PQ of length16em divides it 1n the ratio 3:5.

Then, the length (in cm ) of PX 1s:

Sy o .,

- 5 2o =5 : , £ L Eas S v L WO P Y s 1 I e ]
16 20.80. EPED fie Oyr godo PQ & 3:5 0588° ‘X' od Hothy) def2iod. vons,

PX &%, £26 (R0.8n.088);

Options :

4.8

x 6.4



Question Number : 105 Question Id : 6981772250 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A car moving at a constant speed covers a distance of 110km 1n 2 hours.
Then the time taken (in hours) by that car to cover a distance of 495km with

the same speed 1s:

-

=]

’ - - p - P

" T IO = T i« ;S T T o T Lo T [N P S . R/ = 3\ e ey

2.5 5™ Dol aN0E [p)CTPER0O) 1108.5n. Ll__'r'.J”t,::‘ 2 Noéxd” g0 Deob. a0 SHhod
£ L A il -

L]
-
£3 ¢

& 5°th 4958.20. trdo RairdoliteRs 58 Sihddo (fobed” ).

Options:

45
1. %

6
2. %
I &
a.v 9

Question Number : 106 Question Id : 6981772251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

No. of sides of an Octagon is:

T L e o
Eoees CUNS) 20e5ve o 0gr,
- [r; o

Options :



1. %

3
2. ¥

6
3. %

9
4, %

Question Number : 107 Question Id : 6981772252 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The median of first 5 multiples of 6 1s:

[ TN -,
7 sl > fomele

Evilnidatalek

8

6 o

Options:

16



Question Number : 108 Question Id : 6981772253 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 8t term of the sequence 1. 4,9, 16, 25,___.. is:

1.4,9, 16, 25, .__.. 258568° 8% &io:
Options :

64
1.4

49

81

Question Number : 109 Question Id : 6981772254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
: ; 3 .
Equivalent decimal of a 18:

3
a8

2o T s
o — -
Sod \{.:“T_; L)

ol

e

r,

I0g)::

Options :



L
(%
—1
L

Question Number : 110 Question Id : 6981772255 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Raju spends 8 each day. the money spend by him in November 1s:

i i e 4 i
P - =, - S P = = T, e T o e | L IRV ¥

—_— 1 o 2 = e o 0 - e

UPEP joded O EF ?S Sy o oJy RR0E0 Jed” L] 0 Teaed CaEln.

Options :

2248

Z180

Z240

%210

Question Number : 111 Question Id : 6981772256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the FALSE statement among the following:

Eob ar8&” @8 sy DBook:
R RRE

Options :

5«8
1. %

—090 > _100
2. ®

0<5
3. %

10> +10
4. "

Question Number : 112 Question Id : 6981772257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Equation among the following 1s:

(o, IV Y S
OO0 %)) e DSUERO !

ire

Options:

h

1w P77

m+5 < §

~l+a>6



4+5 % 7

Question Number : 113 Question Id : 6981772258 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The place value of underlined digit in 6.08 1s:

6.08 &° As Achals oS JrH Seos:

]

Options :
50
1. %
8
100
2. ¥
8
10
3. %
8
4 % 1000

Question Number : 114 Question Id : 6981772259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A 44cm long wire is used to form a circle. Then, the area (in sq.cm ) of the

; g 22
circle 13 (use T = = Js
2.8 $y°0 ErEPobosteal 44%0.5. SPESS &1 65GPAD, edEo Ang) e
: ; 2
{?L 0 .06 ]{T[ = T mw L@Eﬁigacjé :l!

22
1. %

72
2. %

154
3.¢
4w 144

Question Number : 115 Question Id : 6981772260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

*A student formulated the general principles of ratio and proportions™. then

the academic standard attained by the student 12

o [ r\-

L L Tt S e, (. WPV SO JRPR SR Y 17 . PR o o

2.5 P8 dayd, @anarEty JPaiiter Q0 &P_,'w_: 0" |L=§601,,--{1- . Bonae 8 JTP0
& = . ®

Options :

Problem solving



Reasoning and proof

# L i B
Seiiegren m: 0 — adiraesen 20050
2.

Communication

Question Number : 116 Question Id : 6981772261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the contexts in which the Deductive method can be used among the

following:

A) To make rules
Dahiren Srerofodteds

B) To derive one formula from another formula

5_/‘. .\,/ ’7\ a s [ R
2.5 F @O coot) RS m:l@”u\ xl;gh JemtelS

C) Toprove one theorem based on another theorem

&5 ?;rgor‘é o sEdore 5HE°s pro—"“\ tEotas

D) When importance is given for solving the pr{}blem by using formulae

WEEeN GadirAon) NET_“D;U oJ ﬁééd Tv '53 ﬁé“;;

= T

ChODSE‘ the correct answer:

E\E-q\% 20000 D,Cf'td.,'S f:](a

Options :

1. %



A & B only
A & B 5rgd

AB& C 0111}.'
A B& Cirgsd

2. %
B.C & D only
B.C & Dsir@a
3. %
4% ABC&D

Question Number : 117 Question Id : 6981772262 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following pairs related to “mathematics teaching learning material

and activities that can be done with them”.

nfakalelad

5% e R, PO Ta0HN §yEe” & $onoBods 8od e

A) Geoboard: Place values can be taught.

"E'OJ'*“E ;‘Jﬂ{‘o SendHes mE.* oSHs

B) Grid paper: Fractions and percentages can be taught.

_: -4 EnY e 8 At
.h-:a L §hPyEn, TPEOD 35;.0&&.‘){2@_‘,.

C) Napier strips: Larger multiplications can be done.

r

Bhalonla] aﬁége::: 28 1Y DesTred D008,
- 0

o

T

D) Abacus: Addition and subtraction of decimals can be taught.

e Sigvo: Barode doded, s

Choose the correct pairs / answer:

D0 esden /e3aPe0D JotHE8 ok
Options :

A & C only
A& CirEad

1. %
A, Bé& Donly
A B& DsrEa
2. % i
B.C &.‘ DGH]}'
B.C & D s
3.¢
ABC&D
4, %

Question Number : 118 Question Id

] o
'?_RF_TEJFJ' ME‘ _Cl JE

: 6981772263 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following items in the “culminating activities step” of the

traditional period plan in a sequential order:

o 9% 5 8a0E S88o B08 . L e S w ophe om
c-,-‘(:?;_o\,c:":fjb Flalenia 2050 2ol 30 “2 5 PR _EE’“ -J‘Jc}' ol ,.‘:s.,'F fParRo” €70 ipOa

o el vadey o8 gnul o
EOTRErN) Sold nteda” @ind ’:'PS
1= 5 2
A) Rewiew
":'i;‘.-.».
oJeld S
&

A B C

Question Number : 119 Question Id : 6981772264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While teaching addition of fractions, the teacher has given the problem

i .
"Solve =4 —" to know how well the students have learned. This type of

4]

evaluation 1s:

- 2 3
T QRPN L S S S VIV VY SO I VAV .
ﬁc-,"ﬁc;lfji:ﬂ« E + Er\.u ﬂ“ﬁ@ﬁ@& E cOc‘l;m‘__FJ.' B sn &80

Options :

Formative evaluation

-

AR g8 sureroSio

1.4
Summative evaluation
Roifiarerss suraroiio
2. %
Comprehensive evaluation
. De sarerroBho
3. i )
Prognostic evaluation
4 % ErPiDE8s sreriosiho

Question Number : 120 Question Id : 6981772265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following statements related with the role of the mathematics

teacher as a facilitator in constructivist learning:

olaonli 1 @ﬁ;;ﬁ;ﬁoéﬁ PGB0 NeBd Garrrding aris Jomobodd ol ary
StiHol:

A)

B)

In the teaching and learning process, learners should be given tasks to

construct knowledge by themselves,

4

s H8ched’ erRbhed §ymmei 5l Shodh &5 e Joymo

Teaching should be limited to mathematics textbooks only.

£

Sdwo K8 FBrddsres HoME &S Jard.

ChGDSE the correct answer.

N0 aaPeD 2 2o ol

Options :

3. %

4.+

A and B are true.

A $H8dw B en S&r0

A and B are false.
A $58dn B en eigso

A 1s false and B 1s true.

A o580 s080in B S&:0

A 18 true and B 1= false.

A 580 $08dm B ed8;0



Environmental Studies

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 121 Question Id : 6981772266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Flowers are classified into complete flower and incomplete flower 1s based on

e Yy T AT Y. gy . o Uy Sl S VA SR, )
odal® 3PNV ®0aJF 0 afa])O a0 3000 f:-'t-.ZQCE-'Q aJal® BT odB) &80
g B y & g
Options:
Types of seeds
o -
alfireer 5P
1. % -

Shape of flower

o
Sy BRSOy
1@ S50

[= )4
L5,

e
ol

69817769
5

Online
Mandatory
30

30

30

Yes

0

1
698177114
Yes

null



Prezence and absence of floral parts

o

aysy eRrPen Goddo SHBan FEarddo

3.¥
Presence and absence of sexual parts
4 % BoAS grrren Godo HBcn 25550

Question Number : 122 Question Id : 6981772267 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Canine teeth are used for

5°0 Sozred IS5 &XAPATS
Options :

erinding the food

-JJ oy s al
e3P TPy ambito

1. # a2

tearing the food

(1]
o

biting the food

g S0
ch-.}"r":u:\ % ?/':

3. %

chewing food

4, % FEENL



Question Number : 123 Question Id : 6981772268 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When we are injured. new cells are formed to heal the wound. Which of the

following nutrients are more essential to heal wounds?

Sosb sl rrn e Tandn s o el ol e VB B Mo Sy e o ppaemo dy Lo enE B
ESyba ey F:’-“fjf,gwhmﬁ (o, MPON0 olPTS B ‘3_'9 SEFPeD Wolh@'-:".-_-. MOP2] P FelS 500

Bt

Laf

4

ol o oo™ e

£

Options :

Proteins
R
1. %
Fats
%Tél"EJ
o
2. %

Carbohydrates

- i
oo, P b
SP0 o PGED

3. % G

S|

e

Minerals

Question Number : 124 Question Id : 6981772269 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statement among the following.

- . e - i A
Eob af&® 208 g hBodol.

Options :
Ailr expands on cooling.

Heodn) md arE o,
1. % - -

Alr contracts on heating.

SETH ™D Ho8 0508,
2. %
Cool air tends to go rise upward the earth’s surface.
ZHed) md g8 A, 68800 28 Jthéob.
3. % N -
As warm air rises, the air pressure at that place is reduced.
58 ) ONEH, @ H50F0f” md ai8do #hdéob.
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The tremors or vibrations of the earth are noted on this scale
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Options :

Moghs scale
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Picto scale

25 Mpen

2.% 7
Richter scale
P:-:.':E r ._*'— 20

3.%  °
Octo scale
5" Zyen

4.% %
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Identify the INCORRECT statement among the following.

o
-

Lob ardlS” H$02°R amy:s thbotol.

g

Options :

Electricity is generated with water vapour that 1s produced when water
18 heated with coal 1s called thermal electricity.
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The power stations where electricity 1s generated from water are called
Hydro-electric power stations.

E oo o E S e L B -
8 00é i &858 O Sore a8 Atird SofFen WolTd.

2. %
Wind energy is used to rotate the fans, to pull out water from wells.
PR 8RS, e Dol 8D adhed 8chtels 558 ¥50 DAEEARE:
3. %
Petrol. diesel, kerosene, coal are the renewable future energy reserves.
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According to the Science Museum of Minnesota (SMM), the only organ in the

body that can float is

= % o e sl R, Cin [y
ARy sirrRdho 85 hdyPer (SMM) @sedo, $8006° @ddhared” 8J0rt 58
whchio

Options :

Heart

Dok

Skin



Lungs

eaa0&den
3. %

Eve
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Water released from projects during floods 12 measured in

S85en SDSG0 @rEDe DHod Hoe TS VB FOT G

Options :

Gallon
e

1. %
Liter
DS

2 %®
Milhliter

L I
She)eésd

Cusecs

o B R
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Identify the correct pair among the following

bl " ] .-nt\ i & L -'_Ia o
Lob @& H0N s DBodol

Options :

White Blood Cells : Carry oxygen to all the cells of our body

S0 88 Sren 508 80080 0l Srred eleaih &hHItheron
1. %
Blood platelets : Help in coagulation of blood
88 Hebsen : 8o fsetod” Si¥ahireron.
2.¥ c

Cardiologist : The doctor who treats the diseases of the Brain

i e s e s OO
SPEIreRD | HSHS Sonodollid arythed D8, 30 St
< 5 % e

3, % N

Red Blood Cells : Fight against the disease-causing germs

ol Frd et orl A e,
o tl ‘j:\:u"'“_;_, 10N 37085 -I‘:CTJ_J_,"&J'EF srorioEon.
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In Cuscuta plant, Haustoria are
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Options :

Fruits
20tD
1. %
Roots
e
2. 7
Stems
) fa e e
3' u e I Ll I
Leaves
4 % EDD
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It 12 NOT caused by air pollution

2o R
O350 SPenaro He wodidotd
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o
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Options :

Chlorofluorocarbons

L =

1.4 ° -

Greenhouse effect

A E AgOE, o e
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Acid rain

Ozone depletion

4% 5,555 é&ar‘_ﬁ
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Identify the correct sequence regarding the stages of safe drinking water supply.

558\.15_?; 200K, 'WW n.tlo D'E-L-DJ PJO-.UOQOLH oih.fi" SDJJ \\.- -60 O(Q

Options :

Pond /Tank-Filtration-Aeration-Chlorination-Overhead Tank-Taps

B /05 -HEFE-0AR -5°030R-4.56 P& P05 -Bgronen
1.4
Pond /Tank- Aeration-Chlorination -Filtration- Overhead Tank-Taps
D5 /ero5- DoRS —ézﬂfuaﬁ —HEPE- .56 ek ermjo5-Sgronen
2. %
Pond /Tank - Chlorination - Filtration - Aeration - Overhead Tank-
Taps
D /605 - BBINS - DEEPE - TR - £H6 & ero5 — Hgronen
3. %

4, %



Pond/Tank- Aeration- Filtration-Chlorination-Overhead Tank-Taps

Question Number : 133 Question Id : 6981772278 Question Type : MCQ Option Shuffling : Yes
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The founder of Satavahana dynasty was
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Options :

Kanishika

Srimulka
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Sathakarm

#
ST S, o
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Sri Pulomavwi
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Correct Marks : 1 Wrong Marks : 0

The River that flows through eastern part of the Sahara Desert is
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Options :

Question Number :

Nile river

en b

reul

Volta river
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e
s eP 26

23

Congo river
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The ‘World Earth day’ 1z observed on

u

Options :
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23th March

s 5_1_7""5
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2ond April
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2.
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24 a@pd
3. %
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The author of the book * Wings of Fire” 1s
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Options :

Dr BER Ambedkar
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Dr APJ Abdul kalam



JP Naravana
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Ravindranath Tagore
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This rule was considered as “The golden age of Ancient India”
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Options:

Mauryan rule
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1. % i
Satavahana rule
‘iﬁ?ﬂ rJ £ .:-l' ‘_E'
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Gupta rule

3 ¢ Dayer aPoR

Harsha rule
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The official language of Arunachal Pradesh 1s
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Options :

Hinda

FALTe A

Konakam
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English
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The temperate Grass lands of North America are
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Prairies

Pampas
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MecMahon line divides these two countries
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Options:

India and Nepal

India and Bangladesh
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India and China
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India and Pakistan
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Palkhal Wildlife sanctuary 12 located at
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Options :

Khammam

Adilabad

wberers

Warangal
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Karimnagar

::\}a,:lc‘\_‘hg
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Harithaharam programme 1s intended to increase the forest area by
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The period of Kharif season in Telangana state 1s
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April to September

June to September

25 od Maood H5%
0
2. ¢
October to March
08%286 Sod 506y (8%
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3. %
January to April
25000 ol ABd D%
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Question Number : 144 Question Id : 6981772289 Question Type : MCQ Option Shuffling : Yes
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From among the following, 39 UNESCO world heritage site in India is
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Golkonda port

RPE™08 285
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Warangal port
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Question Number : 145 Question Id : 6981772290 Question Type : MCQ Option Shuffling : Yes
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The National Curriculum Framework-2005 suggested that the following
subjects concepts should be combined and taught as EVS in classes 3, 4 and 5 as

usual.

Options :

Science and Social only
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Mathematies, Science and Soeial
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Science, Soclal and Environmental concepts
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Social and Environmental concepts only
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By showing the objects and incidents related to students’ daily hfe, self-

experlences can be provided to them. This is called as
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A question that makes the students look back over what or how they have learnt
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Reflective question
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Clarifying question

Probing question
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This commission/committee first suggested to teach the social studies related
aspects as ‘Environmental studies -1' at primary school level for classes 3, 4
and 3.

B8 e %;Jo»é"“" 3, 4 HBon 5 8iRed roind RS Sowohod
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Options :

Kothari Commission (1964-66)
Sod 5855 (1964-66)

1. %
Eshwaribai Patel Committee (1977)
&8:8ercD $8S 08 (1977)

2. ¢
Mudhaliar Commission (1952)
S0DairE 855 (1952)

3. %
Baszic Education Committee (1937)
255 O %08 (1937)
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Identify the process skills of the following in which the teacher has to develop

among students.
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Bob PBE, darmrdnd dmEthod
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t0Bothain.

A)

B)

C)

D)

Formulation of Hypothesis
2080 Z6heo
Inferencing

Fjlt{;fﬁﬁvfsé"aééao
Imagination

50580

Skill of Communication

Faparto

Chooze the correct one:
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Options :
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3.¥

A & B only
A& B srgah

B €D aily
B.C & D ir@

ABC&D
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After completing the preparation for an examination, a student reviewing the

concepts, formulas and other related items, before going to sleep. It reflects the

following.
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Options :

FGI‘JIL atlve assessment
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Peer assessment
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Summative assessment
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Self assesament
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